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ROIl No...uauanaaanaennnennnennnennnen
Time allowed : 3 hours Maximum marks : 100
Total number of questions : 6 Total number of printed pages : 8
NOTE : 1. Answer ALL Questions.
2. Tables showing the present value of ¥ 1 and the present value of an annuity of
¢ I for 15 years are annexed.
3. Suitable assumptions, if considered necessary, may be made while answering a
question. However, such assumptions must be stated clearly.
1 (a) “The EVA is a tool to underline the shareholders value.” Comment.
(b) “Working Capital Leverage measures the sensitivity of return on investment in working
capital.” Comment with example.
(o) “Does the Balance Sheet give a true picture of Current Assets ?” Comment.
(d) “The Sharpe ratio is a risk-adjusted measure of return.” Comment.
(5 marks each)
Attempt all parts of either Q. No. 2 or Q. No. 24
2 (a) Differentiate between Pyramid Shaped Capital Structure and Inverted Pyramid Shaped
Capital Structure.
(b) Differentiate between spot rate and forward rate of foreign exchange rate system.
(o) Differentiate between Regression Analysis Method and Percent of Sales Method for estimating
Working Capital needs.
(d) Differentiate between Commodity Futures Contracts and Commodity Option Contracts.
(4 marks each)
OR (Alternate question to Q. No. 2)
2A. (D) Discuss the controllable factors those support to optimise the cost of capital of a firm.
(4 marks)
1/2017/FTFM P.T.O.
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Explain the concept of financial insolvency and compare it with technical bankruptcy.
(4 marks)

“Social Cost and Benefit Analysis of Project has great importance in the Project Planning.”
Discuss.
(4 marks)

What do you understand by Pegging of currency and describe its various arrangements.
(4 marks)

Attempt all parts of either Q. No. 3 or Q. No. 34

An analyst is evaluating the stocks of two companies for inclusion in the diversified portfolio
that he manages for a pension fund. He wishes to use the price/earnings multiple (PE
ratio) to compare the stocks. The analyst has collected the following information about
Company A and Company B :

Particulars Company A Company B
Historical and expected return on equity (ROE) 16% 11%
Historical and expected dividend payout ratio 40% 40%
Beta 1.35 1.05

The expected return on the market index is 11.5 percent and the expected risk-free return
is 5.25 percent. You are required to calculate the Cost of Equity.
(4 marks)

The following are the data on capital expenditure of a project being evaluated by Management
of Vivaan Limited :

Particulars

Annual cost savings % 40,00,000
Useful life 4 years
Internal Rate of Return 15%
Profitability Index 1.064

From the above information find out the following by assuming that salvage value is
ZEero :

@) Cost of project
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(@) Payback period
(@ii)  Cost of capital

(iv)  Net present value.
(4 marks)

RBI sold a 91 days T-bill of face value of ¥ 100 at a yield of 6%. What was the
issue price ?
(4 marks)

King has purchased a bond for ¥ 1,000 with a coupon payment of ¥ 250 and sold
for ¥ 1,200.

@) What is the holding return of King ?

(@) If King sells the bond for ¥ 800 after receiving the I 250 as coupon payment,
then what is the holding return of King ?
(4 marks)
OR (Alternate question to Q. No. 3)

A firm has sales of ¥ 10 lacs and fixed cost of T 1.5 lacs. Contribution margin is 30%.
It has 10% debt of X 8 lacs. Find out Operating leverage, Financial leverage and Combined
leverage.
Also find out that if the firm wants to double the EBIT, how much percent increase
in sales is needed ?

(4 marks)

Futures contract expiring on 28 October in U.S. Dollar at NSE is selling for I 68.68.
Your Banker has offered a forward contract for delivery on 28 October at ¥ 68.90/
Dollar. How can you take advantage of disparity in the futures and forward
market ? How do you think the position would correct if on 28 October actual rate
is ¥ 69 or ¥ 68 per U.S. Dollar.

(4 marks)

P.T.O.
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Assuming that the firm pays tax at 40%, compute the Weighted Average Cost of Capital

from the following :

5,000 Equity shares of ¥ 100 each % 5,00,000
10% Preference Shares < 1,00,000
12% debentures 3 4,00,000

The current market price of the share is ¥ 120. The Company is expected to declare
a dividend of ¥ 12 at the end of the current year, with an expected growth rate of
8%. Use book value weights.

(4 marks)

Calculate the Minimum stock level, Maximum stock level, Reordering level and Average

stock level from the following information :

(1) Minimum Consumption = 100 units per day

) Maximum Consumption = 150 units per day

3) Normal Consumption 120 units per day

4) Re-order period 10(min)—15(max) units per day

®)) Re-order quantity 1500 units per day

6) Normal re-order period = 12 days

(4 marks)

The following information pertains to M/s Kanagana Limited :
Earnings of the company % 5 lakh
Dividend payout ratio 60%
No. of shares outstanding 1,00,000
Equity capitalisation rate 12%
Rate of return on investment 15%
What would be the market value per share as per Walter’s model ?

Contd. ........
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Consider a firm X Ltd., having the following details :
EBIT = % 1,00,000
Debt borrowed at the rate of 10% = ¥ 5,00,000
Overall Capitalisation rate (Ko) = 12.5%
Find the value of the firm when :
(1) Debt is increased by ¥ 2,00,000
) Debt is decreased by I 2,00,000
Also calculate cost of equity in each case.

How is the marking to market settlement going to affect the margin balance of the

trader ? Explain.

“Finance Manager has no role to play in manufacturing company.” Comment.
(4 marks each)

Under a factoring arrangement Ranki Factors Services Limited has advanced a sum of
T 140 lakh against the receivable purchased from Aangi Limited. The factoring agreement
provides for an advance payment of 80% (maintaining factor reserve of 20% to provide
for disputes and deductions relating to the bills assigned) of the value of factored receivable
and for guaranteed payment after three months from the date of purchasing the receivables.
The advance carries a rate of interest of 12% per annum compounded quarterly and
the factoring commission is 2.5% of the value of factored receivables. Both the interest

and commission are collected upfront.
You are required to :
(@) Compute the amount of advance payable to Aangi Limited.

(@) Calculate per annum the effective cost of funds made available to Aangi Limited.

(8 marks)

P.T.O.
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(b) The following information is available in respect of Security-X and Security-Y :

Security b Expected Rate of Return
X 1.8 22.00%
Y 1.6 20.40%

Rate of return of market portfolio is 15.3%
If risk free rate of return is 7%, are these securities correctly priced ?

What would be the risk free rate of return, if they are correctly priced ?

(8 marks)
6. Calculate the Net Working Capital requirement for Vertical Ltd. from the following
information :
T (per unit)
Raw Material 160
Direct Labour 60
Overhead 120
Total Cost 340
Profit 60
Selling Price 400

Raw material is held in stock on an average for four weeks. Materials are in process on an
average for two weeks. Finished goods are in stock on an average for four weeks. Credit allowed
by supplier four weeks. Credit allowed by Debtors eight weeks. Work in progress comprise
100% material cost and 50% conversion cost. Lag in Payment of Wages 1'% week. Time lag
in payment of overhead expense, four weeks.

Other information :

Cost of Sales Y4 of total sales
Cash in hand/bank 3 50,000
Expected level of production 1,04,000 units

One year is taken as 52 weeks.
Production is carried evenly throughout the year.

State your assumptions, if any.
(16 marks)

1/2017/FTFM Contd. ........
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